E,‘ﬂnﬁrﬁ‘nu >—k

215 =
RETRE2— 304 oMt FE1-2EFE = 20 18
SBEA SEEm

ZLHTDIRA MO BT
FEAE

LEDATERELIMEREYZLT. AL 2EEDTEEABEVE
BHhWWELLD

FrfE B B 5H 6H 7H 8H 9H 108

T3 1 5H.19H|3H.17 21 4H.18H|2H. 16
HE:’-]_3 7KHEE 5H H H|3H H H H H|2H H

1000 ~126500% |-~~~/ -~~~ ~""""1-—~"""""1""""""1
6H.20H|4H.18H| 15H [(5H.198| 19H

TEFEOBS =3 BHR
e Q) ENCI 1,000 9500 M
FEMNSDPR

<#BMERNR>
BRUER T—TRINA—N—) EL2 X R BF E—8—FF—T7/\vJ 3—RE3—) D AK
(FnLSNDBEERIE. BEEBTEELLLET)
ERICISCTHEM [THRS L TS0 T FE 1 RBAERICTERBALELET,

<HAELTLM=KB0>
MEE, B, L NI BDSL. (BEEVNESHLDAFRFSL TS
EFRRAE(R—N—LEBRELGED) o

OEZEPRY
OTDALRESINS=O, HEGI—RF—HDRE—FLET
WA DELAZHERLELLD
s TCELEDOERABF YLD OB DA—RATHRUELA .
—ERDERNOTEDERDENY, BEDBEAHEHE®
BERDN\)IT—23 R ERLAELED

F—TRITILA—N—




